2-Digit Addition (Without Regroup
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1 || Nolan picks 12 apples.
{ || His dad picks 5 apples.
| || How many apples did they pick in all?

Step 1: Print out the
math flags on card
stock paper.
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Step 2: Cut out the flags Step 3: Fold each flag
along the dofted black along the line and
line. glue it to a piece of

string or rope.

|
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Fold along this line.

Nolan picks 12 apples.
His dad picks 5 apples.
How many apples did they pick in all?

(Show your work.)

Answer:







Fold along this line.

Lei has 15 toy bears.
Her sister gives her 3 more.
How many toy bears does she have in all?

(Show your work.)

Answer:







Fold along this line.

Cole has 29 toy cars.
His friend gives him 10 more.
How many toy cars does he have in all?

(Show your work.)

Answer:







Fold along this line.
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How many socks does Raven have in all?

(Show your work.)







Fold along this line.

Zakira has 11 stickers.
Lasaundra gave her 15 more.
How many stickers does Zakira have in all?

(Show your work.)

Answer:







Fold along this line.

James has 32 pencils.
His teacher gave him 8 more.
How many pencils does James have in all?

(Show your work.)

Answer:







Fold along this line.

Emmanvuel drew 17 circles.
Kevonna drew 13 more.

How many circles did they draw in all?

(Show your work.)







Fold along this line.

Rajesh walked 45 steps and ran 24 more.
How many steps did he take in all?

(Show your work.)







How many candies does she had in all?

(Show your work.)

Cherish has 28 red candies and 11 blue.

Fold along this line.







Fold along this line.

Roland picked 56 blueberries.
His sister picked 43.
How many blueberries did they pick in all?

(Show your work.)

Answer:







Fold along this line.
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(Show your work.)







Fold along this line.

Ava ran 13 laps.

Brooke ran 12.

How many laps did they run in all?

(Show your work.)







Fold along this line.

Sayed has 72 coins.

His dad gave him 27 more.

How many coins does Sayed have in all?

(Show your work.)







Fold along this line.

Lin skipped 14 rocks.
Her brother skipped 13 more.
How many rocks did they skip in all?

(Show your work.)

Answer:







Fold along this line.
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(Show your work.)






